

Purchase Order

No PO-00030



PROPARKIN TECHNOLOGIES PRIVATE LIMITED

49/1
GREENPARK
NEW DELHI Delhi 110016
India
GSTIN 07AAPCP0571K1Z1

Vendor Address

CONNECTIVITY IT SOLUTIONS PRIVATE LIMITED

#1877, 1st Floor, 31st Cross,
10th Main, BSK 2nd Stage
Bengaluru
560070 Karnataka
India
GSTIN 29AAGCC1283L1ZC
shruthi@cosol.in

Deliver To

GATEWAY SECURITY GROUP
A-26 Airline Landside Building,
Kempegowda International
Airport
GSTIN : 29AXBPM0789J1Z0
Bengaluru
560300 Karnataka
India

Date : 13/09/2025

Terms : 100% After delivery

Email : purchase@parkin.pro

Phone : 8281316572

#	Item & Description	Qty	Rate	Amount
1	FPR3120- NGFW-K9 Cisco Secure Firewall 3120 NGFW Appliance, 1U	2.00 pcs	13,99,983 .50	27,99,967.00
2	CON-SNTFPR3120N SNTC-8X5XNBD Cisco Secure Firewall 3120 NGFW Appliance	2.00 pcs	4,54,577. 40	9,09,154.80
3	FPR3120T-TMC Cisco Secure Firewall 3120 TD, Malware and URL License	2.00 pcs	0.00	0.00
4	L-FPR3120T-TMC-3Y Cisco Secure Firewall 3120 TD, AMP & URL Filtering 3Y Subs	2.00 pcs	15,85,000 .01	31,70,000.02
5	FPR3K-PWR-AC-400 Cisco Secure Firewall 3K Series 400W AC Power Supply	2.00 pcs	60,412.00	1,20,824.00
6	CAB-C13- C14-IN Power Cord Jumper, C13-C14 Connectors, 1.4 Meter Length India	4.00 pcs	0.00	0.00
7	C9500-24Y4C-A Catalyst 9500 24x1/10/25G? and 4-port 40/100G, Advantage	2.00 pcs	4,46,200. 00	8,92,400.00

#	Item & Description	Qty	Rate	Amount
8	CON-SNT-C95024YA SNTC-8X5XNBD Catalyst 9500 24-port 25/100G only, Adva - 12 months	2.00 pcs	1,60,000. 00	3,20,000.00
9	C9500-DNA24Y4C-A C9500 DNA Advantage, Term License	2.00 pcs	0.00	0.00
10	C9500-DNAL-A-3Y Cisco Catalyst 9500 DNA Advantage 3 Year License	2.00 pcs	1,77,102. 00	3,54,204.00
11	CAB-IND-10A 10A Power cable for India	4.00 pcs	0.00	0.00
12	C9K-PWR-650WAC-R/2 650W AC Config 4 Power Supply front to back cooling	2.00 pcs	43,952.00	87,904.00
13	C9500-SSD-NONE No SSD Card Selected	2.00 pcs	0.00	0.00
14	C9500-RFID RFID Selected	2.00 pcs	0.00	0.00
15	C9300X-12Y-E Catalyst 9300X 12x25G Fiber Ports, modular uplink Switch	5.00 pcs	2,50,500. 50	12,52,502.50
16	CON-SNT-C9300X12 SNTC-8X5XNBD Catalyst 9300X 12x25G Fiber Ports, module	5.00 pcs	1,05,910. 99	5,29,554.95
17	C9300X-DNA-12Y-E C9300 DNA Essentials, Term License	5.00 pcs	0.00	0.00
18	C9300-DNAL-E-3Y DNA Essentials 3 Year License	5.00 pcs	13,205.84	66,029.20
19	D-DNAS-EXTS-3Y Cisco DNA Spaces Extend for Catalyst Switching - 3Year	5.00 pcs	0.00	0.00
20	PWR-C1- 715WAC-P/2 715W AC 80+ platinum Config 1 SecondaryPower Supply	5.00 pcs	12,400.73	62,003.65
21	STACK-T1-50CM 50CM Type 1 Stacking Cable	5.00 pcs	1,942.14	9,710.70
22	C9300-SPWR-NONE No Stack Power Cable Selected	5.00 pcs	0.00	0.00
23	C9300-SSD-NONE No SSD Card Selected	5.00 pcs	0.00	0.00
24	C9K-ACC-SCR-4 12-24 and 10-32 SCREWS FOR RACK INSTALLATION, QTY 4	5.00 pcs	0.00	0.00
25	C9300X-NM-8Y Catalyst 9300 8x10G/25G Network Module SFP+/SFP28	2.00 pcs	85,000.00	1,70,000.00
26	CAB-TA-IN India AC Type A Power Cable	2.00 pcs	0.00	0.00

#	Item & Description	Qty	Rate	Amount
27	C1300-48P-4X C1300-48P-4X	28.00 pcs	33,737.00	9,44,636.00
28	CON-SNT-C130048P SNTC-8X5XNBD Catalyst 1300 48-port GE, PoE, 4x10G SFP	28.00 pcs	19,669.62	5,50,749.36
29	CAB-IND-10A 10A Power cable for India	28.00 pcs	0.00	0.00
30	SFP-10G-LRS 10GBASE-LR SFP Module,Enterprise-Class	70.00 pcs	29,221.28	20,45,489.60
31	SFP-10/25G-LR-S 10/25GBASE-LR SFP28 Module	18.00 pcs	44,143.41	7,94,581.38
32	C1300-8FP-2G Catalyst 1300 8-port GE, Full PoE, 2x1G Combo	2.00 pcs	38,186.00	76,372.00
33	CON-SNT-C13008FG SNTC-8X5XNBD Catalyst 1300 8-port GE, Full PoE, 2x1G	2.00 pcs	2,800.00	5,600.00
34	CAB-IND-10A 10A Power cable for India	2.00 pcs	0.00	0.00
35	Implementation One time Implementation	1.00 pcs	5,00,000. 00	5,00,000.00
36	GLC-LH-SMD 1000BASE-LX/LH SFP transceiver module, MMF/SMF, 1310nm, DOM	6.00 pcs	35,500.00	2,13,000.00
				Sub Total 1,58,74,683.16
				IGST18 (18%) 28,57,442.97
				Total ₹1,87,32,126.13

Terms & Conditions

1. General

- 1.1 These Terms and Conditions govern all Purchase Orders (PO) issued by Proparkin Technologies (hereinafter referred to as "Parkin").
1.2 Acceptance of the PO constitutes acceptance of these Terms and Conditions.

2. Purchase Order Details

- 2.1 The supplier must reference the Purchase Order Number and Purchase Order Date in all invoices, delivery notes, and correspondence.
2.2 The Purchase Order Number must be clearly mentioned on all shipping labels and documents.

3. Invoice Requirements

- 3.1 The supplier must include the following details in the invoice: a. Purchase Order Number b. Purchase Order Date c. SAC/HSN Code(s) for all supplied items
3.2 The supplier must provide three (3) copies of the invoice along with the delivered material.
3.3 Invoices without the above details may lead to processing delays or rejections.

4. Delivery Terms

- 4.1 Delivery must be made to the location specified in the Purchase Order.
4.2 All deliveries must include a packing list with itemized details matching the Purchase Order.
4.3 Parkin reserves the right to reject incomplete or damaged shipments.

5. Quality and Inspection

- 5.1 All goods supplied must meet the quality standards specified in the Purchase Order.
5.2 Parkin reserves the right to inspect goods upon delivery and reject any non-conforming items.

6. Payment Terms

6.1 Payment will be processed within the agreed timeline upon receipt of a valid invoice and verification of delivered items.
6.2 Payments are subject to applicable taxes as per government regulations.

7. Warranty and Liability

7.1 The supplier warrants that all goods are free from defects and conform to the specifications stated in the Purchase Order.
7.2 The supplier is liable for replacement or repair of defective items within the warranty period.

8. Work Order Safety and Compliance

8.1 In case of a Purchase Order released for work, workers must obey all safety rules and regulations at the worksite.
8.2 The vendor is responsible for obtaining all statutory documents, including ESI, PF, insurance, etc., as per government guidelines. Proparkin does not hold any responsibility for the same.

9. Cancellation and Modifications

9.1 Parkin reserves the right to cancel or modify the Purchase Order at any time before shipment without incurring any charges, provided prior written notice is given.

10. Compliance

10.1 The supplier must comply with all applicable laws and regulations related to the supply of goods.
10.2 Any breach of compliance may result in termination of the Purchase Order.

11. Dispute Resolution

11.1 Any disputes arising from the Purchase Order shall be resolved amicably. If unresolved, disputes will be subject to arbitration in accordance with applicable laws.

12. Governing Law

12.1 This Purchase Order and its Terms and Conditions are governed by the laws of New Delhi.

Authorized Signature _____